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1. ��%��$& $���'�� �$��$���/ ��%&�����/ 
«$<7<>4» 

 
1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

$45>G4O ?D>7D4<<4 4<EF<??<=O O6?O5FEO G4EFLN ?D>7D4<<O 

?>47>F>6>< E?5F<4?<EF4 ED54=57> 765=4 6 E>>F65FEF6<< E $��% ED54=57> 

>5M57> >5D47>64=<O. 

$45>G4O ?D>7D4<<4 4<EF<??<=O <>65F 5OFL <E?>?L7>64=4 4DG7<<< 

>5D47>64F5?L=O<< GGD5645=<O<< ?D>D5EE<>=4?L=>7> < 4>?>?=<F5?L=>7> 

>5D47>64=<O, D54?<7GNM<<< >5D47>64F5?L=GN ?D>7D4<<G ED54=57> >5M57> 

>5D47>64=<O. 
 

1.2. �5EF> 4<EF<??<=O 6 EFDG>FGD5 ?D>7D4<<O ?>47>F>6>< E?5F<4?<EF4 
ED54=57> 765=4 

�<EF<??<=4 «$<7<>4» 6E>4<F 6 >5M5>5D47>64F5?L=GN ?>47>F>6>G. 
 

1.3. &5?< < 7444G< 4<EF<??<=O 3 FD55>64=<O > D57G?LF4F4< >E6>5=<O 
GG55=>= 4<EF<??<=O 

� D57G?LF4F5 >E6>5=<O 4<EF<??<=O >5GG4NM<=EO 4>?65= G<5FL: 

- D47?<G4FL GE?>6<O ?D<<5=<<>EF< <>45?5= D<7<G5E><E F5? < ?D>F5EE>6 

(O6?5=<=): <=5DF<4?L=4O E<EF5<4 >FEG5F4, <4F5D<4?L=4O F>G>4, 

D46=>GE>>D5==>5 46<65=<5, E6>5>4=>5 ?445=<5, 45E>?NF=> G?DG74O 

45D>D<4F<O, 45E>?NF=> G?DG7>5 < 45E>?NF=> =5G?DG7>5 EF>?>=>65=<O, 

<>45?5= 7474, 6<4>>EF< < F65D4>7> (>D<EF4??<G5E>>7>) F5?4, <454?L=>7> 7474, 

F>G5G=O= 74DO4, >4=>D>4=>5 M?5>FD<G5E>>5 ?>?5, >4=>D>4=>5 <47=<F=>5 

?>?5, 74D<>=<G5E><5 >>?554=<O, <4F5<4F<G5E><= <4OF=<>, <454?L=O= 

?DG6<==O= <4OF=<>, 74D<>=<G5E><5 6>?=O, <454?L=O= >>?554F5?L=O= 

>>=FGD, F>=>4O ?<=74; <>45?5= 4F><4, 4F><=>7> O4D4 < >64=F>6>= <>45?< 

E65F4; 

- >5NOE=OFL >E>55==>EF< ?D>F5>4=<O D<7<G5E><E O6?5=<=: <5E4=<G5E>>5 

46<65=<5, F5??>6>5 46<65=<5 G4EF<F 65M5EF64, F5??>6>5 D46=>65E<5, 

5D>G=>6E>>5 46<65=<5, 4<DDG7<O, <E?4D5=<5, ><?5=<5 < >>=45=E4F<O, 

??46?5=<5 < >D<EF4??<74F<O, =4?D46?5==>EFL F5??>?5D544G<, M?5>FD<74F<< 

F5?, M>6<?>F5=F<4?L=>EF< ?>65DE=>EF< 74DO65==>7> ?D>6>4=<>4, 

M?5>FD><47=<F=>= <=4G>F<<, E4<><=4G>F<<, 746<E<<>EF< E>?D>F<6?5=<O 

?>?G?D>6>4=<>>6 "D-" < "n-F<?>6" >F F5<?5D4FGDO, D57>=4=E4, 

<=F5DD5D5=F<< 6>?=, 4<DD4>F<<, 4<E?5DE<<, ?>?=>7> 6=GFD5==57> 

>FD465=<O, D>F>MDD5>F, D<7<G5E><5 ?D<=F<?O E?5>FD4?L=>7> 4=4?<74 < 

D45>FO ?475D4, "4?LD4-" < "55F4-" D4E?44O O45D, 74<<4-<7?GG5=<5 O45D; 

- ?D<<5=OFL 74>>=O >?4EE<G5E>>= <5E4=<><, <>?5>G?OD=>= D<7<>< < 

F5D<>4<=4<<><, M?5>FD>4<=4<<><, >64=F>6>= D<7<>< 4?O 4=4?<74 < 

>5NOE=5=<O O6?5=<= <<>D><<D4, <4>D><<D4 < <574<<D4, D47?<G4FL GE?>6<O 

(7D4=<FO, >5?4EF<) ?D<<5=<<>EF< D<7<G5E><E 74>>=>6, ?>=<<4FL 6E5>5M<= 

E4D4>F5D DG=44<5=F4?L=OE 74>>=>6 (74>>= E>ED4=5=<O <5E4=<G5E>>= 

M=5D7<<, 74>>= E>ED4=5=<O <<?G?LE4, 74>>= 6E5<<D=>7> FO7>F5=<O, ?5D6O= 



 

 

 

74>>= F5D<>4<=4<<><, 74>>= E>ED4=5=<O M?5>FD<G5E>>7> 74DO44, 74>>= 

E>ED4=5=<O M=5D7<<) < >7D4=<G5==>EFL <E?>?L7>64=<O G4EF=OE 74>>=>6; 

4=4?<7<D>64FL D<7<G5E><5 ?D>F5EEO, <E?>?L7GO >E=>6=O5 ?>?>65=<O, 74>>=O 

< 74>>=><5D=>EF<; >F=>E<F5?L=>EFL <5E4=<G5E>>7> 46<65=<O, D>D<G?O 

><=5<4F<>< D46=>GE>>D5==>7> 46<65=<O, ?D5>5D47>64=<O �4?<?5O 4?O 

E>>D>EF< < ?5D5<5M5=<O, FD< 74>>=4 �LNF>=4, ?D<=F<? >F=>E<F5?L=>EF< 

�4?<?5O, 74>>= 6E5<<D=>7> FO7>F5=<O, 74>>=O E>ED4=5=<O <<?G?LE4 < 

<5E4=<G5E>>= M=5D7<<, E6O7L D45>FO E<?O E <7<5=5=<5< <5E4=<G5E>>= 

M=5D7<<, GE?>6<O D46=>65E<O F65D4>7> F5?4; E6O7L 446?5=<O <454?L=>7> 7474 

E> ED54=5= ><=5F<G5E>>= M=5D7<5= F5??>6>7> 46<65=<O < >>=F5=FD4F<5= 57> 

<>?5>G?, E6O7L F5<?5D4FGDO 65M5EF64 E> ED54=5= ><=5F<G5E>>= M=5D7<5= 57> 

G4EF<F, E6O7L 446?5=<O <454?L=>7> 7474 E >>=F5=FD4F<5= <>?5>G? < 57> 

F5<?5D4FGD>=, GD46=5=<5 �5=45?5564-�?4?5=D>=4, ?5D6O= 74>>= 

F5D<>4<=4<<><, 74>>= E>ED4=5=<O M=5D7<< 6 F5??>6OE ?D>F5EE4E; 74>>= 

E>ED4=5=<O M?5>FD<G5E>>7> 74DO44, 74>>= �G?>=4, ?>F5=F<4?L=>EFL 

M?5>FD>EF4F<G5E>>7> ?>?O, ?D<=F<? EG?5D?>7<F<< M?5>FD<G5E><E ?>?5=, 

74>>=4 �G?>=4; 74>>=O �<4 4?O GG4EF>4 F5?< < 4?O 74<>=GF>= M?5>FD<G5E>>= 

F5?<, 74>>= �6>G?O-�5=F4, 74>>= M?5>FD><47=<F=>= <=4G>F<<, ?D46<?> 

�5=F4, ?>EFG?4FO E?5F<4?L=>= F5>D<< >F=>E<F5?L=>EF< -==LF5==4, 

GD46=5=<5 -==LF5==4 4?O D>F>MDD5>F4, ?5D6O= < 6F>D>= ?>EFG?4FO �>D4, 

?D<=F<? =5>?D545?5==>EF< �5=75=55D74, 74>>= E>ED4=5=<O 74DO44, <4EE>6>7> 

G<E?4 < M=5D7<< 6 O45D=OE D54>F<OE, 74>>= D44<>4>F<6=>7> D4E?444; 

- ?D<<5=OFL >E=>6>?>?474NM<5 4EFD>=><<G5E><5 ?>=OF<O, F5>D<< < 74>>=O 

4?O 4=4?<74 < >5NOE=5=<O D<7<G5E><E ?D>F5EE>6, ?D><EE>4OM<E =4 765744E, 6 

76574=OE E<EF5<4E, 6 <5674?4>F<G5E>>= ED545; 46<65=<O =555E=OE F5?, 

M6>?NF<< 76574 < �E5?5==>=; 

- <EE?54>64FL < 4=4?<7<D>64FL D47=>>5D47=O5 D<7<G5E><5 O6?5=<O < E6>=EF64 

>5N5>F>6, ?D>6>4<FL E4<>EF>OF5?L=O5 <EE?54>64=<O 6 D54?L=OE < 

?45>D4F>D=OE GE?>6<OE, G<F4FL < 4=4?<7<D>64FL E4D4>F5D<EF<>< ?D<5>D>6 < 

GEFD>=EF6, >5NOE=OFL ?D<=F<?O <E D45>FO; 

- D5L4FL D4EG5F=O5 7444G< E O6=> 7444==>= < =5O6=> 7444==>= D<7<G5E>>= 

<>45?LN: =4 >E=>64=<< 4=4?<74 GE?>6<O 6O5<D4FL D<7<G5E><5 <>45?<, 

>F65G4NM<5 FD55>64=<O< 7444G<, ?D<<5=OFL D>D<G?O, 74>>=O, 

74>>=><5D=>EF< < ?>EFG?4FO D<7<G5E><E F5>D<= ?D< <E?>?L7>64=<< 

<4F5<4F<G5E><E <5F>4>6 D5L5=<O 7444G, ?D>6>4<FL D4EG5FO =4 >E=>64=<< 

<<5NM<EEO 44==OE, 4=4?<7<D>64FL D57G?LF4FO < >>DD5>F<D>64FL <5F>4O 

D5L5=<O E GG5F>< ?>?GG5==OE D57G?LF4F>6; D5L4FL >4G5EF65==O5 7444G<, 

FD55GNM<5 ?D<<5=5=<O 7=4=<= <7 D47=OE D4745?>6 L>>?L=>7> >GDE4 D<7<><, 

4 F4>65 <=F57D4F<< 7=4=<= <7 4DG7<E ?D54<5F>6 5EF5EF65==>=4GG=>7> F<>?4: 

6OEFD4<64FL ?>7<G5E>GN F5?>G>G D4EEG645=<= E >?>D>= =4 <7GG5==O5 

74>>=O, 74>>=><5D=>EF< < D<7<G5E><5 O6?5=<O; 

- 4=4?<7<D>64FL < >F5=<64FL ?>E?54EF6<O 5OF>6>= < ?D><76>4EF65==>= 

45OF5?L=>EF< G5?>65>4, E6O74==>= E D<7<G5E><<< ?D>F5EE4<<, E ?>7<F<= 

M>>?>7<G5E>>= 557>?4E=>EF<; ?D54EF46?5=<= > D4F<>=4?L=>< 



 

 

 

?D<D>4>?>?L7>64=<<, 4 F4>65 D47G<=>< <E?>?L7>64=<< 4>EF<65=<= =4G>< < 

F5E=>?>7<= 4?O 44?L=5=L57> D476<F<O G5?>65G5E>>7> >5M5EF64; 

- 6?445FL D47?<G=O<< E?>E>54<< D45>FO E <=D>D<4F<5= D<7<G5E>>7> 

E>45D64=<O E <E?>?L7>64=<5< E>6D5<5==OE <=D>D<4F<>==OE F5E=>?>7<=, 

D476<F<5 G<5=<= >D<F<G5E>>7> 4=4?<74 < >F5=>< 4>EF>65D=>EF< ?>?GG45<>= 

<=D>D<4F<<; 

- 6?445FL >D74=<74F<>==O<< < ?>7=464F5?L=O<< G<5=<O<< 

E4<>EF>OF5?L=>7> ?D<>5D5F5=<O =>6OE 7=4=<= 6 ?D>F5EE5 6O?>?=5=<O 

?D>5>F=OE < GG55=>-<EE?54>64F5?LE><E D45>F, G<5=<O<< D45>F4FL 6 7DG??5 E 

6O?>?=5=<5< D47?<G=OE E>F<4?L=OE D>?5=, ??4=<D>64FL D45>FG 7DG??O, 

D4F<>=4?L=> D4E?D545?OFL 45OF5?L=>EFL 6 =5EF4=44DF=OE E<FG4F<OE, 

445>64F=> >F5=<64FL 6>?44 >464>7> <7 GG4EF=<>>6 7DG??O 6 D5L5=<5 

D4EE<4FD<645<>= ?D>5?5<O. 

� D57G?LF4F5 >E6>5=<O GG55=>= 4<EF<??<=O >5GG4NM<=EO 4>?65= 

7=4FL: 

- > ?>=<<4=<< D>?< D<7<>< 6 M>>=><<G5E>>=, F5E=>?>7<G5E>>=, E>F<4?L=>= < 

MF<G5E>>= ED5D4E 45OF5?L=>EF< G5?>65>4; D>?< < <5EF4 D<7<>< 6 

E>6D5<5==>= =4GG=>= >4DF<=5 <<D4; D>?< 4EFD>=><<< 6 ?D4>F<G5E>>= 

45OF5?L=>EF< G5?>65>4 < 44?L=5=L5< =4GG=>-F5E=<G5E>>< D476<F<<; 

- > D<7<G5E><E 74>>=><5D=>EFOE, 74>>=4E, F5>D<OE, 45=EF6GNM<E =4 GD>6=OE 

<<>D><<D4, <4>D><<D4 < <574<<D4, ?D54EF46?5=<= > 6E5>5M5< E4D4>F5D5 

D<7<G5E><E 74>>=>6; ?D54EF46?5=<= > EFDG>FGD5 ?>EFD>5=<O D<7<G5E>>= 

F5>D<<, GF> ?>76>?<F >E>7=4FL D>?L DG=44<5=F4?L=OE 74>>=>6 < ?D<=F<?>6 6 

E>6D5<5==OE ?D54EF46?5=<OE > ?D<D>45, ?>=OFL 7D4=<FO ?D<<5=<<>EF< 

F5>D<=, 6>7<>6=>EF< <E ?D<<5=5=<O 4?O >?<E4=<O 5EF5EF65==>=4GG=OE 

O6?5=<= < ?D>F5EE>6; 

- ?D54EF46?5=<O > <5F>44E ?>?GG5=<O =4GG=OE 4EFD>=><<G5E><E 7=4=<=; 

6?445=<5 G<5=<O<< E4<>EF>OF5?L=> D>D<G?<D>64FL F5?L <EE?54>64=<O 

(?D>5>F4), 6O46<74FL 7<?>F57O =4 >E=>65 7=4=<O >E=>6>?>?474NM<E 

D<7<G5E><E 74>>=><5D=>EF5= < 74>>=>6, ?D>65DOFL <E M>E?5D<<5=F4?L=O<< 

ED54EF64<<; ??4=<D>64FL < ?D>6>4<FL D<7<G5E><5 M>E?5D<<5=FO, >?<EO64FL 

< 4=4?<7<D>64FL ?>?GG5==GN ?D< 6O?>?=5=<< M>E?5D<<5=F4 <=D>D<4F<N, 

>?D545?OFL 4>EF>65D=>EFL ?>?GG5==>7> D57G?LF4F4; 

- > <>F<64F<< > 5G4GM5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF< ?> 

E?5F<4?L=>EFO< D<7<>>-F5E=<G5E>>7> ?D>D<?O. 

 

1.4. �>?<G5EF6> G4E>6 =4 >E6>5=<5 D45>G5= ?D>7D4<<O 4<EF<??<=O: 
�5M<= >5N5< >5D47>64F5?L=>= ?D>7D4<<O 198 G4E>6, 6 F>< G<E?5: 

$45>F4 6> 674<<>45=EF6<< E ?D5?>4464F5?5< 180 G4E>6 (?5>F<< 78 

G4E>6; E5<<=4DE><5 74=OF<O 100 G4E>6, >>=EG?LF4F<< 2 G4E4); 

?D><56GF>G=4O 4FF5EF4F<O 18 G4E>6. 
 

$��'�,&�&/ �%�����/ ��%&�����/ 
 

�<G=>EF=O5 D57G?LF4FO >E6>5=<O 4<EF<??<=O >FD464NF: 



 

 

 

- G<5=<5 674<<>45=EF6>64FL E E>F<4?L=O<< <=EF<FGF4<< 6 

E>>F65FEF6<< E <E DG=>F<O<< < =47=4G5=<5<; 

- F5==>EF=>5 >F=>L5=<5 > 7>EG44DEF65==O< E<<6>?4<, <EF>D<G5E>><G 

< ?D<D>4=><G =4E?54<N, ?4<OF=<>4<, FD44<F<O< =4D>4>6 $>EE<<, 

4>EF<65=<O< $>EE<< 6 =4G>5, <E>GEEF65, E?>DF5, F5E=>?>7<OE < FDG45; 

- E?>E>5=>EFL >F5=<64FL E<FG4F<N < ?D<=<<4FL >E>7=4==O5 D5L5=<O, 

>D<5=F<DGOEL =4 <>D4?L=>-=D46EF65==O5 =>D<O < F5==>EF<; 

- MEF5F<G5E>>5 >F=>L5=<5 > <<DG, 6>?NG4O MEF5F<>G 5OF4, =4GG=>7> < 

F5E=<G5E>>7> F6>DG5EF64, E?>DF4, FDG44 < >5M5EF65==OE >F=>L5=<=; 

- ED>D<<D>64==>EFL 74>D>6>7> < 557>?4E=>7> >5D474 6<7=<, 

>F65FEF65==>7> >F=>L5=<O > E6>5<G 74>D>6LN; 

- 7>F>6=>EFL < E?>E>5=>EFL > >5D47>64=<N < E4<>>5D47>64=<N =4 

?D>FO65=<< 6E5= 6<7=<; 

- ED>D<<D>64==>EFL M>>?>7<G5E>>= >G?LFGDO, ?>=<<4=<5 6?<O=<O 

E>F<4?L=>-M>>=><<G5E><E ?D>F5EE>6 =4 E>EF>O=<5 ?D<D>4=>= < E>F<4?L=>= 

ED54O, >E>7=4=<5 7?>54?L=>7> E4D4>F5D4 M>>?>7<G5E><E ?D>5?5<; 

- >E>7=4=<5 F5==>EF< =4GG=>= 45OF5?L=>EF<, 7>F>6=>EFL >EGM5EF6?OFL 

?D>5>F=GN < <EE?54>64F5?LE>GN 45OF5?L=>EFL <=4<6<4G4?L=> < 6 7DG??5. 

�5F4?D54<5F=O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O >FD464NF: 

- 6OO6?OFL 74>>=><5D=>EF< < ?D>F<6>D5G<O 6 D4EE<4FD<645<OE 

O6?5=<OE;  

- E?>E>5=>EFL < 7>F>6=>EFL > E4<>EF>OF5?L=><G ?><E>G <5F>4>6 

D5L5=<O ?D4>F<G5E><E 7444G, ?D<<5=5=<N D47?<G=OE <5F>4>6 ?>7=4=<O; 

- D>D<<D>64=<5 =4GG=>7> F<?4 <OL?5=<O, 6?445=<5 =4GG=>= 

F5D<<=>?>7<5=, >?NG56O<< ?>=OF<O<< < <5F>44<<; 

- 6?445FL =46O>4<< ?>?GG5=<O <=D>D<4F<< <7 <EF>G=<>>6 D47=OE 

F<?>6, E4<>EF>OF5?L=> >EGM5EF6?OFL ?><E>, 4=4?<7, E<EF5<4F<74F<N < 

<=F5D?D5F4F<N <=D>D<4F<< D47?<G=OE 6<4>6 < D>D< ?D54EF46?5=<O; 

- >EGM5EF6?OFL >><<G=<>4F<< 6> 6E5E ED5D4E 6<7=<; 

- ?>=<<4FL < <E?>?L7>64FL ?D5<<GM5EF64 >><4=4=>= < <=4<6<4G4?L=>= 

D45>FO; 

- E4<>EF>OF5?L=> >EGM5EF6?OFL ?>7=464F5?L=GN 45OF5?L=>EFL, 6OO6?OFL 

?D>5?5<O, EF46<FL < D>D<G?<D>64FL E>5EF65==O5 7444G< 6 >5D47>64F5?L=>= 

45OF5?L=>EF< < 6<7=5==OE E<FG4F<OE; 

- 6?445FL =46O>4<< ?>7=464F5?L=>= D5D?5>E<< >4> >E>7=4=<O 

E>65DL45<OE 45=EF6<= < <OE?<F5?L=OE ?D>F5EE>6, <E D57G?LF4F>6 < 

>E=>64=<=; 

- E4<>D57G?<D>64=<O, 6>?NG4NM57> E4<>>>=FD>?L, G<5=<5 ?D<=<<4FL 

>F65FEF65==>EFL 74 E6>5 ?>6545=<5, E?>E>5=>EFL 444?F<D>64FLEO > 

M<>F<>=4?L=O< <7<5=5=<O< < ?D>O6?OFL 7<5>>EFL, 5OFL >F>DOFO< =>6><G; 

- D476<64FL E?>E>5=>EFL ?>=<<4FL <<D E ?>7<F<< 4DG7>7> G5?>65>4. 

$57G?LF4F>< >E6>5=<O 4<EF<??<=O O6?O5FEO D>D<<D>64=<5 G<5=<= < 

7=4=<=:  

 



 

 

 

�>4 �4<<5=>64=<5 D57G?LF4F4 >5GG5=<O 

' 1 
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3. '%����/ $������&�� $���'�� �$��$���/ 
��%&�����/ 

 

3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G 
>55E?5G5=<N 
'G55=4O 4G4<F>D<O 4?O ?D>6545=<O E5<<=4DE><E 74=OF<=, 7DG??>6OE < 

<=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 3 

�45<=5F E>F<4?L=>-7G<4=<F4D=OE 4<EF<??<=: 

- >>?<G5EF6> ?>E44>G=OE <5EF 3 60 

- EF>? ?D5?>4464F5?O 3 1 LF. 

- EFG? ?D5?>4464F5?O 3 1 LF. 

- GG5=<G5E>4O 4>E>4 3 1 LF. 

- =>GF5G> 4?O ?D5?>4464F5?O E 6OE>4>< 6 E5FL "�=F5D=5F" 

- >5>DG4>64=<5: ?5D5=>E=>= ?D>5>F>D Casio xj-a145 projector 3 1 LF., M>D4= 3 1 LF. 

- GG55=>-<5F>4<G5E>4O 4>>G<5=F4F<O 

- F5E=<G5E><5 ED54EF64 >5GG5=<O: F5EF>64O >5>?>G>4 JoliTest (JTRun, 

JtEditor,TestRun), ?4>5F >D<E=OE ?D<?>65=<= Microsoft «OfficeStandard 

2013Russian OLP NL AcademicEdition» 

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO: 

- >>?<G5EF6> ?>E44>G=OE <5EF 3 24 

- EF>? ?D5?>4464F5?O 3 1 LF.  

- EFG? ?D5?>4464F5?O 3 1 LF. 

- GG5=<G5E>4O 4>E>4 3 1 LF. 

- <>=<F>D 3 11 LF. 

- E<EF5<=O= 5?>> 3 11 LF. 

- >?46<4FGD4 3 11 LF.  

- >><?LNF5D=4O <OLL 3 11 LF. 

- E??<F-E<EF5<4 3 1 LF.  

- F5E=<G5E><5 ED54EF64 >5GG5=<O: >D<E=OE ?D<?>65=<= Microsoft «OfficeStandard 

2013Russian OLP NL AcademicEdition» 

'<F4?L=O= 74? 5<5?<>F5>< E 6OE>4>< 6 E5FL �=F5D=5F: 

- >>?<G5EF6> ?>E44>G=OE <5EF 3 25 

- EF>? ?D5?>4464F5?O 3 1 LF. 

- EFG? ?D5?>4464F5?O 3 1 LF. 

- >5>DG4>64=<5: ?5D5=>E=>= ?D>5>F>D ViewSonic 3 1 LF., M>D4= 3 1 LF., <>=<F>D 3 7 

LF., E<EF5<=O= 5?>> 3 7 LF., >?46<4FGD4 3 7 LF., >><?LNF5D=4O <OLL 3 7 LF. 

- EF5??46 3 2 LF. 

- E??<F-E<EF5<4 3 1 LF. 

- F5E=<G5E><5 ED54EF64 >5GG5=<O: ?4>5F >D<E=OE ?D<?>65=<= Microsoft 

«OfficeStandard 2013Russian OLP NL AcademicEdition» 

 
3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 

 
�E=>6=4O ?<F5D4FGD4: 



 

  

1. �D46G5=>> �. ..  $<7<>4 : GG55=<> < ?D4>F<>G< 4?O ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O / �. .. �D46G5=>>. 4 �>E>64 : 

�744F5?LEF6> .D4=F, 2023. 4 300 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 

ISBN 978-5-534-01418-1. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 

??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/512690  

        2. �4E<?L56 �. �.  $<7<>4 : GG55=>5 ?>E>5<5 4?O ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �4E<?L56, �. �. $54>D>6, 

�. �. %D4<>6. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 

2023. 4 211 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-

05702-7. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 

4 URL: https://urait.ru/bcode/514208 

 
�>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �>D?4G �. �.  $<7<>4 : GG55=>5 ?>E>5<5 4?O ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>D?4G. 4 2-5 <74., <E?D. < 4>?. 4 

�>E>64 : �744F5?LEF6> .D4=F, 2023. 4 215 E. 4 (�D>D5EE<>=4?L=>5 

>5D47>64=<5). 4 ISBN 978-5-534-09366-7. 4 &5>EF : M?5>FD>==O= // 

�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/514739 

2. �>D?4G �. �.  $<7<>4. �444G<, F5EFO. �5F>4O D5L5=<O : GG55=>5 

?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>D?4G. 4 2-5 

<74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 343 E. 4 

(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-16184-7. 4 &5>EF : 

M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 

URL: https://urait.ru/bcode/530576 

 

�D<F<4?L=O5, E?D46>G=>-5<5?<>7D4D<G5E><5 < ?5D<>4<G5E><5 
<744=<O: 

1. %D54=55 ?D>D5EE<>=4?L=>5 >5D47>64=<5. �><??5>F. �5EF=<> 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O. %D54=55 ?D>D5EE<>=4?L=>5 

>5D47>64=<5. �D<?>65=<5 > 6GD=4?G «%D54=55 ?D>D5EE<>=4?L=>5 

>5D47>64=<5» 
 

�5D5G5=L D5>><5=4G5<OE �=F5D=5F-D5EGDE>6: 
1. http://school-collection.edu.ru/ (�4<=4O >>??5>F<O F<DD>6OE 

>5D47>64F5?L=OE D5EGDE>6) 

2. http://kvant.mccme.ru/ (�GD=4? �64=F). 

3. https://n-t.ru/nl/fz/ (�>55?56E><5 ?4GD54FO ?> D<7<>5). 

4. http://elkin52.narod.ru/ (�4=<<4F5?L=4O D<7<>4 6 6>?D>E4E < >F65F4E) 

 

4. ���&$��, � �&���� $��'�,&�&�� �%�����/ 
��%&�����/ 

 

�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O 4<EF<??<=O >EGM5EF6?O5FEO 

?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O E5<<=4DE><E 74=OF<= < ?45>D4F>D=OE 

D45>F, F5EF<D>64=<O, 4 F4>65 6O?>?=5=<O >5GG4NM<<<EO >>=FD>?L=OE D45>F. 



 

  

 

$57G?LF4FO >5GG5=<O 
(>E6>5==O5 G<5=<O, GE6>5==O5 7=4=<O) 

$>D<O < <5F>4O 
>>=FD>?O < >F5=>< 

D57G?LF4F>6 >5GG5=<O  
'<5=<O: 
D47?<G4FL GE?>6<O ?D<<5=<<>EF< <>45?5= 

D<7<G5E><E F5? < ?D>F5EE>6 (O6?5=<=): 

<=5DF<4?L=4O E<EF5<4 >FEG5F4, <4F5D<4?L=4O 

F>G>4, D46=>GE>>D5==>5 46<65=<5, E6>5>4=>5 

?445=<5, 45E>?NF=> G?DG74O 45D>D<4F<O, 

45E>?NF=> G?DG7>5 < 45E>?NF=> =5G?DG7>5 

EF>?>=>65=<O, <>45?5= 7474, 6<4>>EF< < F65D4>7> 

(>D<EF4??<G5E>>7>) F5?4, <454?L=>7> 7474, 

F>G5G=O= 74DO4, >4=>D>4=>5 M?5>FD<G5E>>5 ?>?5, 

>4=>D>4=>5 <47=<F=>5 ?>?5, 74D<>=<G5E><5 

>>?554=<O, <4F5<4F<G5E><= <4OF=<>, <454?L=O= 

?DG6<==O= <4OF=<>, 74D<>=<G5E><5 6>?=O, 

<454?L=O= >>?554F5?L=O= >>=FGD, F>=>4O ?<=74; 

<>45?5= 4F><4, 4F><=>7> O4D4 < >64=F>6>= <>45?< 

E65F4 

E5<<=4DE><5 74=OF<O 

?45>D4F>D=O5 D45>FO 

F5EF<D>64=<5 

>>=FD>?L=O5 D45>FO 

>5NOE=OFL >E>55==>EF< ?D>F5>4=<O D<7<G5E><E 

O6?5=<=: <5E4=<G5E>>5 46<65=<5, F5??>6>5 

46<65=<5 G4EF<F 65M5EF64, F5??>6>5 D46=>65E<5, 

5D>G=>6E>>5 46<65=<5, 4<DDG7<O, <E?4D5=<5, 

><?5=<5 < >>=45=E4F<O, ??46?5=<5 < 

>D<EF4??<74F<O, =4?D46?5==>EFL F5??>?5D544G<, 

M?5>FD<74F<< F5?, M>6<?>F5=F<4?L=>EF< 

?>65DE=>EF< 74DO65==>7> ?D>6>4=<>4, 

M?5>FD><47=<F=>= <=4G>F<<, E4<><=4G>F<<, 

746<E<<>EF< E>?D>F<6?5=<O ?>?G?D>6>4=<>>6 "D-" 

< "n-F<?>6" >F F5<?5D4FGDO, D57>=4=E4, 

<=F5DD5D5=F<< 6>?=, 4<DD4>F<<, 4<E?5DE<<, 

?>?=>7> 6=GFD5==57> >FD465=<O, D>F>MDD5>F, 

D<7<G5E><5 ?D<=F<?O E?5>FD4?L=>7> 4=4?<74 < 

D45>FO ?475D4, "4?LD4-" < "55F4-" D4E?44O O45D, 

74<<4-<7?GG5=<5 O45D 

E5<<=4DE><5 74=OF<O 

?45>D4F>D=O5 D45>FO 

F5EF<D>64=<5 

>>=FD>?L=O5 D45>FO 

?D<<5=OFL 74>>=O >?4EE<G5E>>= <5E4=<><, 

<>?5>G?OD=>= D<7<>< < F5D<>4<=4<<><, 

M?5>FD>4<=4<<><, >64=F>6>= D<7<>< 4?O 4=4?<74 < 

>5NOE=5=<O O6?5=<= <<>D><<D4, <4>D><<D4 < 

<574<<D4, D47?<G4FL GE?>6<O (7D4=<FO, >5?4EF<) 

?D<<5=<<>EF< D<7<G5E><E 74>>=>6, ?>=<<4FL 

6E5>5M<= E4D4>F5D DG=44<5=F4?L=OE 74>>=>6 

(74>>= E>ED4=5=<O <5E4=<G5E>>= M=5D7<<, 74>>= 

E5<<=4DE><5 74=OF<O 

?45>D4F>D=O5 D45>FO 

F5EF<D>64=<5 

>>=FD>?L=O5 D45>FO 



 

  

E>ED4=5=<O <<?G?LE4, 74>>= 6E5<<D=>7> FO7>F5=<O, 

?5D6O= 74>>= F5D<>4<=4<<><, 74>>= E>ED4=5=<O 

M?5>FD<G5E>>7> 74DO44, 74>>= E>ED4=5=<O M=5D7<<) 

< >7D4=<G5==>EFL <E?>?L7>64=<O G4EF=OE 74>>=>6; 

4=4?<7<D>64FL D<7<G5E><5 ?D>F5EEO, <E?>?L7GO 

>E=>6=O5 ?>?>65=<O, 74>>=O < 74>>=><5D=>EF<; 

>F=>E<F5?L=>EFL <5E4=<G5E>>7> 46<65=<O, 

D>D<G?O ><=5<4F<>< D46=>GE>>D5==>7> 46<65=<O, 

?D5>5D47>64=<O �4?<?5O 4?O E>>D>EF< < 

?5D5<5M5=<O, FD< 74>>=4 �LNF>=4, ?D<=F<? 

>F=>E<F5?L=>EF< �4?<?5O, 74>>= 6E5<<D=>7> 

FO7>F5=<O, 74>>=O E>ED4=5=<O <<?G?LE4 < 

<5E4=<G5E>>= M=5D7<<, E6O7L D45>FO E<?O E 

<7<5=5=<5< <5E4=<G5E>>= M=5D7<<, GE?>6<O 

D46=>65E<O F65D4>7> F5?4; E6O7L 446?5=<O 

<454?L=>7> 7474 E> ED54=5= ><=5F<G5E>>= M=5D7<5= 

F5??>6>7> 46<65=<O < >>=F5=FD4F<5= 57> <>?5>G?, 

E6O7L F5<?5D4FGDO 65M5EF64 E> ED54=5= 

><=5F<G5E>>= M=5D7<5= 57> G4EF<F, E6O7L 446?5=<O 

<454?L=>7> 7474 E >>=F5=FD4F<5= <>?5>G? < 57> 

F5<?5D4FGD>=, GD46=5=<5 �5=45?5564-�?4?5=D>=4, 

?5D6O= 74>>= F5D<>4<=4<<><, 74>>= E>ED4=5=<O 

M=5D7<< 6 F5??>6OE ?D>F5EE4E; 74>>= E>ED4=5=<O 

M?5>FD<G5E>>7> 74DO44, 74>>= �G?>=4, 

?>F5=F<4?L=>EFL M?5>FD>EF4F<G5E>>7> ?>?O, 

?D<=F<? EG?5D?>7<F<< M?5>FD<G5E><E ?>?5=, 

74>>=4 �G?>=4; 74>>=O �<4 4?O GG4EF>4 F5?< < 4?O 

74<>=GF>= M?5>FD<G5E>>= F5?<, 74>>= �6>G?O-

�5=F4, 74>>= M?5>FD><47=<F=>= <=4G>F<<, ?D46<?> 

�5=F4, ?>EFG?4FO E?5F<4?L=>= F5>D<< 

>F=>E<F5?L=>EF< -==LF5==4, GD46=5=<5 

-==LF5==4 4?O D>F>MDD5>F4, ?5D6O= < 6F>D>= 

?>EFG?4FO �>D4, ?D<=F<? =5>?D545?5==>EF< 

�5=75=55D74, 74>>= E>ED4=5=<O 74DO44, <4EE>6>7> 

G<E?4 < M=5D7<< 6 O45D=OE D54>F<OE, 74>>= 

D44<>4>F<6=>7> D4E?444 

?D<<5=OFL >E=>6>?>?474NM<5 4EFD>=><<G5E><5 

?>=OF<O, F5>D<< < 74>>=O 4?O 4=4?<74 < 

>5NOE=5=<O D<7<G5E><E ?D>F5EE>6, ?D><EE>4OM<E 

=4 765744E, 6 76574=OE E<EF5<4E, 6 

<5674?4>F<G5E>>= ED545; 46<65=<O =555E=OE F5?, 

M6>?NF<< 76574 < �E5?5==>= 

E5<<=4DE><5 74=OF<O 

 

<EE?54>64FL < 4=4?<7<D>64FL D47=>>5D47=O5 

D<7<G5E><5 O6?5=<O < E6>=EF64 >5N5>F>6, 

?D>6>4<FL E4<>EF>OF5?L=O5 <EE?54>64=<O 6 

E5<<=4DE><5 74=OF<O 

?45>D4F>D=O5 D45>FO 

F5EF<D>64=<5 



 

  

D54?L=OE < ?45>D4F>D=OE GE?>6<OE, G<F4FL < 

4=4?<7<D>64FL E4D4>F5D<EF<>< ?D<5>D>6 < 

GEFD>=EF6, >5NOE=OFL ?D<=F<?O <E D45>FO 

>>=FD>?L=O5 D45>FO 

D5L4FL D4EG5F=O5 7444G< E O6=> 7444==>= < =5O6=> 

7444==>= D<7<G5E>>= <>45?LN: =4 >E=>64=<< 

4=4?<74 GE?>6<O 6O5<D4FL D<7<G5E><5 <>45?<, 

>F65G4NM<5 FD55>64=<O< 7444G<, ?D<<5=OFL 

D>D<G?O, 74>>=O, 74>>=><5D=>EF< < ?>EFG?4FO 

D<7<G5E><E F5>D<= ?D< <E?>?L7>64=<< 

<4F5<4F<G5E><E <5F>4>6 D5L5=<O 7444G, 

?D>6>4<FL D4EG5FO =4 >E=>64=<< <<5NM<EEO 

44==OE, 4=4?<7<D>64FL D57G?LF4FO < 

>>DD5>F<D>64FL <5F>4O D5L5=<O E GG5F>< 

?>?GG5==OE D57G?LF4F>6; D5L4FL >4G5EF65==O5 

7444G<, FD55GNM<5 ?D<<5=5=<O 7=4=<= <7 D47=OE 

D4745?>6 L>>?L=>7> >GDE4 D<7<><, 4 F4>65 

<=F57D4F<< 7=4=<= <7 4DG7<E ?D54<5F>6 

5EF5EF65==>=4GG=>7> F<>?4: 6OEFD4<64FL 

?>7<G5E>GN F5?>G>G D4EEG645=<= E >?>D>= =4 

<7GG5==O5 74>>=O, 74>>=><5D=>EF< < D<7<G5E><5 

O6?5=<O 

E5<<=4DE><5 74=OF<O 

?45>D4F>D=O5 D45>FO 

F5EF<D>64=<5 

>>=FD>?L=O5 D45>FO 

4=4?<7<D>64FL < >F5=<64FL ?>E?54EF6<O 5OF>6>= < 

?D><76>4EF65==>= 45OF5?L=>EF< G5?>65>4, 

E6O74==>= E D<7<G5E><<< ?D>F5EE4<<, E ?>7<F<= 

M>>?>7<G5E>>= 557>?4E=>EF<; ?D54EF46?5=<= > 
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